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’ 100kN/mM%Z#B % % -l -~ = -|3mZEBRB| - ~ = - —| 100kN/mM%#B %% = -~ = -|3m%i#BZ % =~ = = =
Zzh st 1.00{0.00 ~ 7.62 97.60| Zh L4 |0.00 ~ 7.62| 1.97 9.94 ZnLst 1.00f 500 ~ 11.39 97.60| Zh st | 500 ~ 11.39] 1.97 9.94
9 100kN/mM#%#BZ % 1.00({0.00 ~ 0.25 103.68|3m%E{B x5 = ~ - = —| 100kN/mM%#B 2% 1.00( 10.81 ~ 11.55 103.68|3m%EEZ 5 =l ~ - - -
Zzh st 1.00{ 025 ~ 8.04 100.00| 1 list |0.00 ~ 8.04] 2.08 10.50 ZnLst 1.00f 5.00 ~ 10.81 100.00] #hkist | 5.00 ~ 1155 2.08 10.50
3 100kN/M%Z#B % % -l -~ = -|3mZEBRB| - ~ = - -| 100kN/mM%#8 %% = -~ = -|3m%i#BZ % =~ = = =
Zzh st 1.00{0.00 ~ 7.28 92.78| #h L4t |0.00 ~ 7.28| 248 12.56 ZznLst 1.00f 500 ~ 10.72 92.78| #h st | 5.00 ~ 10.72| 248 12.56
4 100kN/mM#%#BZ % 1.00(0.00 ~ 0.20 102.97|3m%EE 25 = ~ - = —| 100kN/mM%#8 2% 1.00( 10.68 ~ 11.25 102.97|3m%EEZ 5 =l ~ - - -
Zzh st 1.00{0.20 ~ 7.99 100.00] #hkist | 000 ~ 7.99| 2.11 10.64 ZnLst 1.00f 500 ~ 10.68 100.00| #hiist | 5.00 ~ 11.25] 2.11 10.64
5 100kN/M%Z#B % % -l -~ = -|3mZBRB| - ~ = - -| 100kN/mM%#8 %% = -~ = -|3m%i#BZ 3 =~ = = =
Zzh st 1.00{0.00 ~ 6.74 85.17| #hlist 000 ~ 6.74] 1.72 8.70 ZznLst 1.00f 500 ~ 8.20 85.17| #nlis | 500 ~ 8.20f 1.72 8.70
100kN/M%Z#8B % % ~ ImEHBRD ~ 100kN/m%Z#BZ % ~ ImEEZD ~
Zzh st ~ Zzh st ~ Zh st ~ zh st ~
100kN/M%Z#8B % % ~ ImEHBRD ~ 100kN/mM%Z#BZ % ~ ImEEZD ~
Zzh st ~ Zzh st ~ Zh st ~ Zzh st ~
100kN/mMZ#B % % ~ ImEHBRD ~ 100kN/mM%Z#BZ % ~ ImEEZD ~
Zzh st ~ zh st ~ Zh st ~ zh st ~
100kN/M%Z#B % % ~ ImEHBRD ~ 100kN/m%Z#BZ % ~ ImEEZD ~
zh st ~ Zzh st ~ Zh st ~ zh st ~
100kN/mM%#8 % % ~ ImEHBRD ~ 100kN/m%Z#BZ % ~ ImEEZD ~
Zzh st ~ Zzh st ~ Zzh st ~ zh st ~
100kN/MZ#B % % ~ ImEHBRD ~ 100kN/m%Z#B % % ~ ImEEZD ~
zh st ~ Zzh st ~ Zzh st ~ zh st ~
100kN/mM%#B % % ~ ImEHBRD ~ 100kN/m%Z#BZ % ~ ImEEZD ~
Zzh st ~ zh st ~ Zh st ~ zh st ~
100kN/m#E#BZ % ~ ImEFEZD ~ 100kN/m%#8Z% ~ ImEFEZD ~
Zhst ~ ZhLlst ~ Zh s ~ ZhLs ~
100kN/m#E#BZ % ~ ImEFEZD ~ 100kN/m%#82% ~ ImEFEZD ~
Zhst ~ ZhLlst ~ Zh s ~ ZhLs ~
100kN/m#E#BZ % ~ 3ImEFEZD ~ 100kN/m%#8Z 5% ~ ImEFEZD ~
ZThESH ~ ZThLst ~ ZhLS ~ ZThESE ~ |
=FE



